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(2, b) mod (M)
a2t b= & MO| CHl A 2t=O[Ct.
aft b= M2 2 LtFE S LIHX| 7} ZLCt.
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(a, b) mod(M) , (c, d) mod(M)O| ¥ (ac, bd) mod(M) O|L}.
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(a,b) mod(M), (x, x) mod(M) O|™H (ax, bx) mod(M)O|L}.
(a,b) mod(M) O|® (ax, bx) mod(M)O| C}.
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» Random number 9| M3} Al
x(i+1) = ax(i) % M or (x(i+1),ax(i)) mod(M)
i= | Uy
(x(2) , ax(1)) mod(M) = (ax(2),a"2 x(1)) mod(M)
(x(3) , ax(2)) mod(M) > (x(3),a”2 x(1)) mod(M) O|LC}.

(x(n), ax(n-1)) mod(M)
=2 (x(n), 2"2 x(n-2)) mod(M)
> (x(n),a?(n-1) x(1)) mod(M) 2 H? 7}5.

Oteko)| (a?(n-1),c) mod(M) Q1 HZ
(x(n), a*(n-1) (1)) mod(M)
2> (x(n),ex(1)) mod(M) 22 HH 75

= (@Mn-1),c) mod(M)Of| A c2| Z}S L1 A O M x(n)Q|

=2
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HI 2
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(Il) &t = "t
(a, t(1)) mod(M)O| 2} B} X}.

(272, at(1)) mod(M) == (272, t(1)*2) mod(M) O|C}.
= (272, t(2)) mod(M)Y AL (¢(1)A2, t(2)) mod(M) O|C}.

(a*3,t(3)) mod (M) == (a*(2+1), t(1)t(2)) mod(M)O| L.
= (3,1(3)) mod(M) Y Z2 (¢(1)(2), £(3)) mod(M)O|CL.

(1),(2), t(4), €(8), €(16).... Tt 22 242 D|2| H A8l 5
ex) x(100) AT} == O H &S
100=64+32+4 & 5 7fs¢h

(27100, t(64)t(32)t(4)) mod(M) == (t(64)t(32)t(4), t(100)) mod(M)
(x(100), t(100*SEED) mod(M) S £3}0] x(100)2 HIZ 2 4= QIC}
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